Hi everybody , this is an easy program to solve circuit on closed net for hydraulic. The way you are going to enter the data is as shown below: 





Suppose your teacher says ok lets solve this two circuits, each one have three pipes and all this data:





�Using the Hazen Williams C=100 for all pipes, the L(lengths) in mts , the D(diameters) in cm and the supposed flows in lts/seg and this formulas:





K=(10.67*L)/(C1.852*D4.87)


HL=K*F1.852





Well using the program i have done you have to enter the data as shown:


Go to the library menu ,look for close and press it ,then press red.


it will say closed net and then a question will appear: how many circuits? You will have to enter 2 for this example.


now its going to appear an inform box saying circuit :1 at the top


L(lengths in mts) ,D(diameters in mts), F(supposed flows in m3/seg ), Hazen Williams C and the pipes (common circuit) which means the number of the common circuit according to the pipe.





For this example the order must be like this:


Circuit:1


L {600 200 300}


D {0.25 0.35 0.3}


F  {0.15 0.05 -0.15}


C  {100 100 100}


Pipe {0 2 0}: the 0 means no common circuit for this pipe, the 2 means that the pipe number two is common with the circuit 2.


Circuit:2


L {600 300 200}


D {0.25 0.3 0.35}


F {0.01 -0.11 -0.05}


C {100 100 100}


Pipe {0 0 1}: the 1 on pipe number three means that this pipe is common with the circuit 1. So the number here means the common circuit  according to the pipe. So when you enter a 0 you are saying that this pipe is no common with none circuit.


�The green means the order i enter all the pipes. For example in circuit 1 pipes number 2 has L=200, D=.35, C=100, F=+.05 and pipe=2(common with circuit 2), bur for circuit 2 this pipe is the number 3 and has the same data but the flows change here due to the sign now it will be F=-0.05 and is common with circuit 1 so pipe=1.





When you finish entering the data you will see a mesage saying Solving…, then will appear a little table like this:


ITERATION:1


Circuit:1


 Flows       K                        Hloss           1.852*(Hl/F)              newF


[[ .15  1082.30042148  32.2454794951  398.124186833  9.71925438164E-2]


 [ .05  70.0782162828  .27294521628   10.109890811  -3.64980608127E-2]


 [ -.15  222.692280979  -6.63477463144  81.9173507829  -.202807456184]]


Sumatory:Hloss:25.88365008


Sumatoty:1.852*(Hl/F):490.151428427


AF:-5.28074561836E-2





Press on





ITERATION:1


Circuit:2


 and the same table presentin its results.


You wil have to press on and copying the answers coz nothing will be recorded and the iterations will be over until the sumatory of the two circuits are (-/+)0.5.





well my name is Carlos Augusto Perez Coca , I   study Civil Engineering at UNI(Nicaragua).


